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1. Put in too or enough with the adjective in brackets.

Example: 

Trig can’t get through the fence. He’s too fat (fat).

Trig can’t climb over the fence. He isn’t big enough (big).

1. Trig gets stuck on the slide because he’s ______________ (fat).

2. Trig can’t reach the cake on the table because he isn’t ______________ (tall).

3. Trig mustn’t swing on the lamp because he’s ______________ (heavy).

4. Nick can’t lift the piano because he isn’t ______________ (strong).
5. Nick didn't win the race because he was ______________ (slow). 
6. Jenny is cross with Trig because he isn't ______________ (polite). 
7. Jenny can't play football because she can't kick ______________ (hard).
8. Chip can't catch Fluff because he can't run ______________ (fast).
9. Chip mustn't jump on the sofa because he's ______________ (dirty).
10. Chip mustn't play in the garden early in the morning because he barks ______________ (loudly).
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2. Can you do these things? Why not? Answer

with too or enough. These adjectives will help. Sometimes two answers are possible.

heavy 

old 

fast 

small

young 

clever 

difficult 
tall high 

far 

big 

hot

strong 

brave 

dangerous

Example: 
Can you lift a suitcase that weighs 25 kilos? 

No, I can 't. I’m not strong enough.


OR: No, I can't. It's too heavy.

1 
Can you throw a ball fifty metres?

_______________________________________
2 
Can you touch the ceiling? 

_______________________________________
3 
Can you drive a car? 

_______________________________________
4 
Can you do this sum in your head?


32,065,318 + 462,788 - 558,907,325 =


______________________________________

5 
Can you run two kilometres in a minute? 

_______________________________________

6 
Can you carry a piano?

_______________________________________
7 
Can you jump from an aeroplane? 

_______________________________________
8 
Can you eat a cake that has just come out of the oven? 

_______________________________________
9 
Can you put an apple in your mouth? 

_______________________________________
10 
Can you get into a rabbit hole? 

_______________________________________

11 Can you say the English alphabet backwards in ten seconds? 

_______________________________________
12 
Can you climb Mount Everest? 

_______________________________________
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3. Match the sentences.
1 
I feel too scared.

2 
Your shoes are too dirty.

3 
This T-shirt is too large.

4 
He is too silly.

5 
These trainers are too narrow. 
6 
These clothes are too wet.

7 
Those trousers are too short. 

8 
This film is too boring.

9 
That man is too angry.

10 
She's too lazy.
a 
It isn't interesting enough

b 
They aren't long enough.

c 
I'm not brave enough.

d 
He isn't calm enough.

e 
She isn't hard-working enough. 
f 
They aren't dry enough.

9 
It isn't small enough.

h 
He isn't sensible enough.

i 
They aren't clean enough.

j 
They aren't wide enough
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4. Write too or enough with the adjective in brackets.
1
Can we close the window now? 


It’s _________________. (windy)
2 
Please can you turn up the cassette player? 

It isn't _________________. (loud)
3
My ruler isn't _________________. (long)

Can I borrow your ruler?
4 
Can you write that again, Maria? 

This writing isn't _________________. (neat)
5
My bag is _________________. (small)

I can't fit all these books in it.

6 
Please speak more loudly. 

Your voice is _________________. (quiet)
7
Today's homework is ________________. (easy)

My five​ year-old sister can do it! 
8 
Could you all stop talking, please? 

It's not _________________. (quiet)
9
Can I switch the radiator on? 

It's _________________
now. (cold)
10
This computer is old and slow. 

It's not _________________. (fast)
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5. Complete the text with too or enough and with the adjective in brackets..

It's Julie's birthday. She's got lots of presents. She's got a dress from her grandmother. It's red, yellow and orange. She doesn't like it. It's ______________ (bright).

She's got some trainers from her aunt. They're great but she can't wear them because they're size 38 and she's size 39. They aren't ______________. (big)
She's got some trousers from her mum. They're a nice colour but they're ______________. You can't see her shoes! (long)
Her dad gave her a book about cats because she loves cats. However, it's in English and she can't read it. It's ______________. (difficult)
Her brother gave her an expensive tennis racket but she can't play tennis now. It's winter. It's not ______________ for tennis. (warm)
Her friend gave her a T-shirt and it's perfect! It isn't

______________ or ______________, it's just right. She's wearing it now. (big / small)
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6. Complete the dialogue. Use the word in brackets with TOO or ENOUGH.
A:
6-0! That was terrible! Our team just wasn't __________________! (good)

B:
The other team was _________________ (strong) for us.

A:
We got the ball sometimes, but we weren't _________________. (quick)
B:
Our team aren't _________________ (fit). They 
got tired _________________ (quickly). They 
aren't training _________________ (hard).

A:
The other team was _________________ 
(clever). They always found a space.

B:
Some of their players were very tall and strong. 
Our players were _________________ (scared) 
to go near them!

A:
We've got one good player but he's


_________________ (selfish). He never passes


the ball.

B:
We need a new goalkeeper. Our goalkeeper's _________________ (old). He's nearly forty!
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